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1). Bpeite 6houg touc pryadwoic aprduolc z € C oy ixavorooly:
|Z| =1,
|z500 i 2500| —1

IT6cot dagopetixol pryadixol utdpyouy;

2). o) No vroroyiote Tov pryodixd
(1 +i)2016.

B) I 6 # 2km, k € Z anodellte ot

sin(1008 ) cos (¢ + 22152)
sing '

cos ¢ + cos(¢ + 0) + - - - + cos(¢ + 2015 0) =

3). No Peeite dhouc toug Tpayuatixolc a € R yio toug omoloug 1 e&lowon
PB4 (B34+40)2 32— (a+1i) =0,

VoL EYEL Uit TOUAG o ToV Tporyuatixy| oflo.

4). (H doxnon vo yiver pe yphion pryadady aptducdv) Alveta tpiywvo ABC. EEwtepind tou tprydvou
ABC' xataoxeudlouvue tplywva ABR, ABP,CAQ &oTe:

PBC = CAQ = 45°,

BCP =QCA = 30°,
ABR = RAB = 15°.
Anodei&te 61t 10 Tplywvo QRP civon opdoydwio xou wwooxehéc (RQ) = RP).

KAAH EIIITYXIA!




